	Kamehameha Highway Replacement of South Punaluu Stream Bridge  O.: BR-083-1(42)  Net Length of Project: 0.26 Miles										
ISLAND: Oa				HAWAIIAN DREDGING		dck pacific construction, LLC		GOODFELLO	OW BROS., INC.	STATE OF HAWAII DEPARTMENT OF	
DATE ADVE	ERTISED: Internet Posting - June 9, 2009			CONSTRUCTION COMPANY, INC.		dok paomo concuación, 220				TRANSPORTATION HIGHWAYS DIVISION	
BIDS OPEN	ED: June 30, 2009							1			
COMPLETIC	ON TIME: Five Hundred (500) Working Days										
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
201.0100	Clearing and Grubbing	L.S.	L.S.	L.S.	\$120,000.00	L.S.	\$75,000.00	L.S.	\$175,000.00	L.S.	\$35,170.00
202.0440	Removal of Existing Concrete Bridge	L.S.	L.S.	L.S.	\$369,000.00	L.S.	\$400,000.00	L.S.	\$500,000.00	L.S.	\$1,175,533.19
203.0100	Roadway Excavation	2,700	Cu. Yd.	\$20.00	\$54,000.00	\$80.00	\$216,000.00	\$150.00	\$405,000.00	\$80.00	\$208,720.00
204.0100	Trench Excavation for 12-inch Waterline	L.S.	L.S.	L.S.	\$7,000.00	L.S.	\$60,000.00	L.S.	\$15,000.00	L.S.	\$67,706.67
204.0200	Trench Backfill for 12-inch Waterline	L.S.	L.S.	L.S.	\$4,000.00	L.S.	\$25,000.00	L.S.	\$15,000.00	L.S.	\$2,977.78
205.6101	Structure Excavation for Bridge Abutment and Wingwall Footings	L.S.	L.S.	L.S.	\$70,000.00	L.S.	\$80,000.00	L.S.	\$25,000.00	L.S.	\$121,000.00
205.6102	Structural Excation for Gabions	L.S.	L.S.	L.S.	\$11,000.00	L.S.	\$30,000.00	L.S.	\$40,000.00	L.S.	\$9,500.00
205.7201	Structure Backfill for Bridge Abutment and Wingwalls	L.S.	L.S.	L.S.	\$110,000.00	L.S.	\$20,000.00	L.S.	\$25,000.00	L.S.	\$55,560.00
205.8200	Filter Material	L.S.	L.S.	L.S.	\$4,500.00	L.S.	\$2,000.00	L.S.	\$3,000.00	L.S.	\$2,470.00
207.0000	Ditch and Channel Excavation	L.S.	L.S.	L.S.	\$1,500.00	L.S.	\$25,000.00	L.S.	\$8,000.00	L.S.	\$125,000.00
208.0000	Leveling Surfaces	F.A.	F.A.	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00
209.1000	Installation, Maintenance, Monitoring, and Removal of BMP	L.S.	L.S.	L.S.	\$50,000.00	L.S.	\$200,000.00	L.S.	\$550,000.00	L.S.	\$233,000.00
209.1100	Dewatering System	L.S.	L.S.	L.S.	\$430,000.00	L.S.	\$35,000.00	L.S.	\$140,000.00	L.S.	\$267,000.00
209.2000	Additional Water Pollution, Dust and Erosion Control	F.A.	F.A.	F.A.	\$60,000.00	F.A.	\$60,000.00	F.A.	\$60,000.00	F.A.	\$60,000.00

PROJECT: Kamehameha Highway
Replacement of South Punaluu Stream Bridge

PROJECT NO.: BR-083-1(42)

Net Length of Project: 0.26 Miles

ISLAND: Oahu

DATE ADVERTISED: Internet Posting - June 9, 2009

BIDS OPENED: June 30, 2009

COMPLETION TIME: Five Hundred (500) Working Days

HAWAIIAN DREDGING CONSTRUCTION COMPANY, INC.

dck pacific construction, LLC

GOODFELLOW BROS., INC.

STATE OF HAWAII **DEPARTMENT OF** TRANSPORTATION

HIGHWAYS DIVISION

ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
212.0000	Archaeological Monitoring	F.A.	F.A.	F.A.	\$25,000.00	F.A.	\$25,000.00	F.A.	\$25,000.00	F.A.	\$25,000.00	
212.1000	Cultural Monitoring	F.A.	F.A.	F.A.	\$25,000.00	F.A.	\$25,000.00	F.A.	\$25,000.00	F.A.	\$25,000.00	
305.0000	Aggregate Subbase for Diversion Road	3,000	Cu. Yd.	\$25.00	\$75,000.00	\$75.00	\$225,000.00	\$20.00	\$60,000.00	\$80.00	\$240,000.00	
305.1000	Aggregate Subbase for Roadway	200	Cu. Yd.	\$100.00	\$20,000.00	\$150.00	\$30,000.00	\$240.00	\$48,000.00	\$80.00	\$16,000.00	
312.0100	Hot Mix Glassphalt Base Course	180	Ton	\$200.00	\$36,000.00	\$215.00	\$38,700.00	\$210.00	\$37,800.00	\$200.00	\$36,000.00	
401.0410	HMA Pavement, Mix No. IV	1,700	Ton	\$225.00	\$382,500.00	\$232.00	\$394,400.00	\$230.00	\$391,000.00	\$164.62	\$279,850.00	
403.1000	Anti-Skid Coating	L.S.	L.S.	L.S.	\$30,000.00	L.S.	\$40,000.00	L.S.	\$111,000.00	L.S.	\$64,800.00	
411.1000	Concrete Pavement	L.S.	L.S.	L.S.	\$50,000.00	L.S.	\$20,000.00	L.S.	\$40,000.00	L.S.	\$8,400.00	
415.0000	Cold Planing (2" min)	2,800	Sq. Yd.	\$8.00	\$22,400.00	\$8.00	\$22,400.00	\$8.00	\$22,400.00	\$15.00	\$42,000.00	
415.1000	Cold Planing (4"-7")	620	Sq. Yd.	\$19.00	\$11,780.00	\$19.00	\$11,780.00	\$19.00	\$11,780.00	\$35.00	\$21,700.00	
416.0000	Paving Grid	1,100	Sq. Yd.	\$17.00	\$18,700.00	\$17.50	\$19,250.00	\$17.00	\$18,700.00	\$10.00	\$11,000.00	
503.1090	Concrete for Abutments and Wingwall	L.S.	L.S.	L.S.	\$350,000.00	L.S.	\$500,000.00	L.S.	\$540,000.00	L.S.	\$43,340.00	
503.1091	Concrete for Wingwall Footings	L.S.	L.S.	L.S.	\$25,000.00	L.S.	\$50,000.00	L.S.	\$75,000.00	L.S.	\$207,680.00	
503.1092	Concrete for Bridge Deck	L.S.	L.S.	L.S.	\$375,000.00	L.S.	\$900,000.00	L.S.	\$388,000.00	L.S.	\$912,040.00	
503.1093	Concrete in Pier Cap	L.S.	L.S.	L.S.	\$160,000.00	L.S.	\$200,000.00	L.S.	\$369,000.00	L.S. Sheet No. 2	\$266,670.00 of 8 Sheets	

PROJECT: Kamehameha Highway

Replacement of South Punaluu Stream Bridge

PROJECT NO.: BR-083-1(42)

Net Length of Project: 0.26 Miles

ISLAND: Oahu

DATE ADVERTISED: Internet Posting - June 9, 2009

BIDS OPENED: June 30, 2009

COMPLETION TIME: Five Hundred (500) Working Days

HAWAIIAN DREDGING CONSTRUCTION COMPANY, INC.

dck pacific construction, LLC

GOODFELLOW BROS., INC.

STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION

ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
503.1094	Concrete for Approach Slab	L.S.	L.S.	L.S.	\$90,000.00	L.S.	\$70,000.00	L.S.	\$85,000.00	L.S.	\$137,200.00
503.1095	Concrete Jackets and Reaction Blocks for Waterline	L.S.	L.S.	L.S.	\$550,000.00	L.S.	\$60,000.00	L.S.	\$75,000.00	L.S.	\$172,925.93
503.8000	Mechanical Grooving	L.S.	L.S.	L.S.	\$33,050.00	L.S.	\$50,000.00	L.S.	\$33,000.00	L.S.	\$44,400.00
504.7400	Type 24-inch Prestress Planks	L.S.	L.S.	L.S.	\$1,500,000.00	L.S.	\$1,900,000.00	L.S.	\$1,600,000.00	L.S.	\$1,413,810.00
507.1501	Metal Railing	L.S.	L.S.	L.S.	\$155,000.00	L.S.	\$100,000.00	L.S.	\$114,000.00	L.S.	\$128,800.00
507.7000	Concrete End Posts	L.S.	L.S.	L.S.	\$30,000.00	L.S.	\$25,000.00	L.S.	\$36,000.00	L.S.	\$120,000.00
507.7001	Aesthetic Bridge Railing	L.S.	L.S.	L.S.	\$218,000.00	L.S.	\$260,000.00	L.S.	\$416,000.00	L.S.	\$289,800.00
511.0100	Furnishing Drilled Shaft Drilling Equipment	L.S.	L.S.	L.S.	\$356,520.00	L.S.	\$900,000.00	L.S.	\$895,000.00	L.S.	\$300,000.00
511.0200	Obstructions	100	Hour	\$1,000.00	\$100,000.00	\$2,100.00	\$210,000.00	\$2,100.00	\$210,000.00	\$1,500.00	\$150,000.00
511.0300	Load Test	1	EA	\$250,000.00	\$250,000.00	\$180,000.00	\$180,000.00	\$170,000.00	\$170,000.00	\$250,000.00	\$250,000.00
511.0310	Trial Shaft	170	Lin. Ft,	\$750.00	\$127,500.00	\$1,500.00	\$255,000.00	\$1,400.00	\$238,000.00	\$1,000.00	\$170,000.00
511.0400	Drilled Shaft (60-Inch Diameter)	2,885	Lin. Ft,	\$450.00	\$1,298,250.00	\$600.00	\$1,731,000.00	\$700.00	\$2,019,500.00	\$600.00	\$1,731,000.00
511.0510	Unclassified Shaft Excavation (60-Inch Diameter)	2,885	Lin. Ft.	\$220.00	\$634,700.00	\$380.00	\$1,096,300.00	\$700.00	\$2,019,500.00	\$330.00	\$952,050.00
511.1100	Corring for Integrity Testing for Acceptable Drilled Shaft	800	Lin. Ft.	\$75.00	\$60,000.00	\$150.00	\$120,000.00	\$120.00	\$96,000.00	\$250.00	\$200,000.00
511.2000	Permanent Casing (60-Inch Inside Diameter)	1,360	Lin. Ft,	\$600.00	\$816,000.00	\$425.00	\$578,000.00	\$400.00	\$544,000.00	\$1,000.00 Sheet No. 3	\$1,360,000.00

Sheet No. 3 of 8 Sheets

PROJECT: Kamehameha Highway

Replacement of South Punaluu Stream Bridge

PROJECT NO.: BR-083-1(42)

Net Length of Project: 0.26 Miles

ISLAND: Oahu

DATE ADVERTISED: Internet Posting - June 9, 2009

BIDS OPENED: June 30, 2009

COMPLETION TIME: Five Hundred (500) Working Days

HAWAIIAN DREDGING CONSTRUCTION COMPANY, INC.

dck pacific construction, LLC

GOODFELLOW BROS., INC.

STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION

ITEM No.   ITEM No.   ITEM   APPROX. QUANTITY   UNIT USED   UNIT PRICE   AMOUNT   UNIT AMOUNT   AMOUNT   AMOUNT   AMOUNT   AMOUNT   AMOUNT   AMOUNT   AM									-			
512.0200         Installing Pre-Fabricated Steel Truss Bridge Drilled Shafts and Abutments         1         EA         \$1,203,600.00         \$2,277,700.00         \$2,277,700.00         \$1,570,000.00         \$2,911,000.00           512.0300         Installing Pre-Fabricated Steel Truss Bridge         1         EA         \$1,000,000.00         \$300,000.00         \$300,000.00         \$695,000.00         \$252,000.00           512.0400         Maintenance of Pre-Fabricated Steel Truss Bridge         24         Month         \$2,278.22         \$54,677.28         \$2,000.00         \$48,000.00         \$48,000.00         \$15,200.00           512.0500         Removal of Pre-Fabricated Steel Truss Bridge         1         EA         \$123,600.00         \$40,000.00         \$72,000.00         \$320,000.00           606.0300         Guardrail Type Strong Post (W-Beam)         L.S.         L.S.         L.S.         \$60,000.00         L.S.         \$90,000.00         L.S.         \$19,000.00         L.S.           606.5100         Terminal Section Type Fleat TL-2         L.S.         L.S.         L.S.         \$25,000.00         L.S.         \$20,000.00         L.S.         \$19,000.00         L.S.	EM NO.	ITEM	1	UNIT USED	UNIT PRICE	AMOUNT						
and Abutments    1	2.0100 P	Pre-Fabricated Steel Truss Bridge Rental	24	Month	\$1,000.00	\$24,000.00	\$10,000.00	\$240,000.00	\$2,000.00	\$696,000.00	\$19,000.00	\$456,000.00
512.0400         Maintenance of Pre-Fabricated Steel Truss Bridge         24         Month         \$2,278.22         \$54,677.28         \$2,000.00         \$48,000.00         \$48,000.00         \$48,000.00         \$15,200.00           512.0500         Removal of Pre-Fabricated Steel Truss Bridge         1         EA         \$123,600.00         \$40,000.00         \$40,000.00         \$72,000.00         \$320,000.00           606.0300         Guardrail Type Strong Post (W-Beam)         L.S.         L.S.         L.S.         \$90,000.00         L.S.         \$59,000.00         L.S.           606.5100         Terminal Section Type Fleat TL-2         L.S.         L.S.         L.S.         \$20,000.00         L.S.         \$19,000.00         L.S.		•	1	EA	\$1,203,600.00	\$1,203,600.00	\$2,277,700.00	\$2,277,700.00	\$1,570,000.00	\$1,570,000.00	\$2,911,000.00	\$2,911,000.00
512.0500         Removal of Pre-Fabricated Steel Truss Bridge         1         EA         \$123,600.00         \$40,000.00         \$40,000.00         \$72,000.00         \$320,000.00           606.0300         Guardrail Type Strong Post (W-Beam)         L.S.         L.S.         L.S.         \$60,000.00         L.S.         \$90,000.00         L.S.         \$59,000.00         L.S.           606.5100         Terminal Section Type Fleat TL-2         L.S.         L.S.         L.S.         \$25,000.00         L.S.         \$20,000.00         L.S.         \$19,000.00         L.S.	12.0300 In	Installing Pre-Fabricated Steel Truss Bridge	1	EA	\$1,000,000.00	\$1,000,000.00	\$300,000.00	\$300,000.00	\$695,000.00	\$695,000.00	\$252,000.00	\$252,000.00
606.0300 Guardrail Type Strong Post (W-Beam)  L.S.  L.S.  \$60,000.00  L.S.  \$90,000.00  L.S.  \$59,000.00  L.S.  \$19,000.00  L.S.	2.0400 M	Maintenance of Pre-Fabricated Steel Truss Bridge	24	Month	\$2,278.22	\$54,677.28	\$2,000.00	\$48,000.00	\$2,000.00	\$48,000.00	\$15,200.00	\$364,800.00
606.5100 Terminal Section Type Fleat TL-2 L.S. L.S. \$25,000.00 L.S. \$20,000.00 L.S. \$19,000.00 L.S.	2.0500 R	Removal of Pre-Fabricated Steel Truss Bridge	1	EA	\$123,600.00	\$123,600.00	\$40,000.00	\$40,000.00	\$72,000.00	\$72,000.00	\$320,000.00	\$320,000.00
	06.0300 G	Guardrail Type Strong Post (W-Beam)	L.S.	L.S.	L.S.	\$60,000.00	L.S.	\$90,000.00	L.S.	\$59,000.00	L.S	\$51,350.00
	06.5100 To	Terminal Section Type Fleat TL-2	L.S.	L.S.	L.S.	\$25,000.00	L.S.	\$20,000.00	L.S.	\$19,000.00	L.S.	\$20,000.00
606.5300   Transition Section Type Thrie Beam   L.S.   L.S.   \$26,000.00   L.S.   \$71,000.00   L.S.   \$38,000.00   L.S.	06.5300 T	Transition Section Type Thrie Beam	L.S.	L.S.	L.S.	\$26,000.00	L.S.	\$71,000.00	L.S.	\$38,000.00	L.S.	\$10,000.00
607.1000 4 - Feet Chain Link Fence L.S. L.S. L.S. \$90,000.00 L.S. \$70,000.00 L.S. \$27,000.00 L.S.	7.1000 4	4 - Feet Chain Link Fence	L.S.	L.S.	L.S.	\$90,000.00	L.S.	\$70,000.00	L.S.	\$27,000.00	L.S.	\$10,020.00
607.1100 6 - Feet Chain Link Fence L.S. L.S. L.S. \$19,500.00 L.S. \$15,000.00 L.S. \$7,500.00 L.S.	7.1100 6	6 - Feet Chain Link Fence	L.S.	L.S.	L.S.	\$19,500.00	L.S.	\$15,000.00	L.S.	\$7,500.00	L.S.	\$6,480.00
608.0000 Portland Cement Concrete Sidewalk L.S. L.S. L.S. \$1,750.00 L.S. \$8,000.00 L.S. \$5,000.00 L.S.	08.0000 P	Portland Cement Concrete Sidewalk	L.S.	L.S.	L.S.	\$1,750.00	L.S.	\$8,000.00	L.S.	\$5,000.00	L.S.	\$240.00
608.1000 Wheelchair Loading Pad L.S. L.S. L.S. \$1,750.00 L.S. \$1,000.00 L.S. \$1,000.00 L.S.	)8.1000 V	Wheelchair Loading Pad	L.S.	L.S.	L.S.	\$1,750.00	L.S.	\$1,000.00	L.S.	\$1,000.00	L.S.	\$640.00
612.0000 Grouted Rubble Paving L.S. L.S. L.S. \$377,600.00 L.S. \$400,000.00 L.S. \$550,000.00 L.S.	12.0000 G	Grouted Rubble Paving	L.S.	L.S.	L.S.	\$377,600.00	L.S.	\$400,000.00	L.S.	\$550,000.00	L.S.	\$258,000.00
617.1000 Imported Planting Soil L.S. L.S. L.S. \$39,000.00 L.S. \$20,000.00 L.S. \$17,000.00 L.S. Short No. 4 of	17.1000 In	Imported Planting Soil	L.S.	L.S.	L.S.	\$39,000.00	L.S.	\$20,000.00	L.S.	\$17,000.00		\$26,740.00

Sheet No. 4 of 8 Sheets

PROJECT: Kamehameha Highway
Replacement of South Punaluu Stream Bridge

							į.				
PROJECT NO.: BR-083-1(42) Net Length of Project: 0.26 Miles										STATE OF HAWAII	
ISLAND: C	ahu			HAWAIIAN DREDGING CONSTRUCTION		dck pacific construction, LLC		GOODFELLO	OW BROS., INC.	DEPARTMENT OF	
DATE ADV	ERTISED: Internet Posting - June 9, 2009			COMPANY, INC.						TRANSPORTATION HIGHWAYS DIVISION	
BIDS OPE	IED: June 30, 2009										
COMPLETI	COMPLETION TIME: Five Hundred (500) Working Days										
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
619.0100	Grass Sprig (Seashore Paspalum Grass - Hydrosprig)	L.S.	L.S.	L.S.	\$26,500.00	L.S.	\$40,000.00	L.S.	\$26,000.00	L.S.	\$23,880.00
619.1000	Transplanted Tree (Field Stock Hala Tree)	L.S.	L.S.	L.S.	\$8,500.00	L.S.	\$10,000.00	L.S.	\$8,000.00	L.S.	\$8,130.00
619.2000	Transplanted Tree (Field Stock Coconut Palm)	L.S.	L.S.	L.S.	\$46,000.00	L.S.	\$50,000.00	L.S.	\$45,000.00	L.S.	\$23,130.00
619.3000	Shrub (Beach Naupaka - 1 gallon @ 3'-0")	L.S.	L.S.	L.S.	\$615.00	L.S.	\$1,000.00	L.S.	\$600.00	L.S.	\$5,610.00
619.4000	Groundcover (Beach Morning Glory Groundcover - Rooted Cuttings @ 1'-0" o.c.)	L.S.	L.S.	L.S.	\$7,400.00	L.S.	\$5,000.00	L.S.	\$7,300.00	L.S.	\$6,970.00
621.1000	Security Guard Services	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F,A. ~	\$10,000.00
621.1100	Rodent Control	F.A.	F.A.	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00
622.1000	Temporary Roadway Lighting Sysytem	L.S.	L.S.	L.S.	\$35,000.00	L.S.	\$20,000.00	L.S.	\$30,000.00	L.S.	\$35,200.00
622.2000	Roadway Lighting Sysytem	L.S.	L.S.	L.S.	\$35,000.00	L.S.	\$45,000.00	L.S.	\$33,000.00	L.S.	\$15,065.00
624.0000	Water System	L.S.	L.S.	L.S.	\$135,000.00	L.S.	\$150,000.00	L.S.	\$175,000.00	L.S.	\$65,700.00
626.3000	Adjusting Water Manhole Frame and Cover	L.S.	L.S.	L.S.	\$2,000.00	L.S.	\$1,000.00	L.S.	\$25,000.00	L.S.	\$3,000.00
629.1010	4-Inch Pavement Striping (White Tape, Type I or Thermoplastic Extrusion)	2,300	Lin. Ft,	\$1.00	\$2,300.00	\$3.00	\$6,900.00	\$3.00	\$6,900.00	\$2.00	\$4,600.00
629.1020	8-Inch Pavement Striping (White Tape, Type I or Thermoplastic Extrusion)	400	Lin. Ft.	\$4.00	\$1,600.00	\$5.00	\$2,000.00	\$6.00	\$2,400.00	\$2.00	\$800.00
		<u> </u>								Sheet No. 5 c	of 8 Sheets

PROJECT: Kamehameha Highway

Replacement of South Punaluu Stream Bridge

PROJECT NO.: BR-083-1(42)

Net Length of Project: 0.26 Miles

ISLAND: Oahu

DATE ADVERTISED: Internet Posting - June 9, 2009

BIDS OPENED: June 30, 2009

COMPLETION TIME: Five Hundred (500) Working Days

HAWAIIAN DREDGING CONSTRUCTION COMPANY, INC. dck pacific construction, LLC

GOODFELLOW BROS., INC.

STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION

COMPLETIC	ON TIME: Five Hundred (500) Working Days										
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT						
629.1041	Double 4-Inch Pavement Striping (Yellow Tape, Type I or Thermoplastic Extrusion)	1,350	Lin. Ft,	\$3.00	\$4,050.00	\$4.00	\$5,400.00	\$6.00	\$8,100.00	\$4.00	\$5,400.00
629.3030	Type C Pavement Marker	65	EA	\$3.00	\$195.00	\$10.00	\$650.00	\$10.00	\$650.00	\$10.00	\$650.00
629.3040	Type D Pavement Marker	67	EA	\$9.00	\$603.00	\$10.00	\$670.00	\$10.00	\$670.00	\$10.00	\$670.00
629.3050	Type DB Pavement Marker	1	EA	\$9.00	\$9.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00
629.3060	Pavement Word (White Tape, Type III or Thermoplastic Extrusion)	1	EA	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00	\$400.00	\$400.00
631.5000	Regulatory Sign (10 Square Feet or Less) with Post	5	EA	\$400.00	\$2,000.00	\$500.00	\$2,500.00	\$400.00	\$2,000.00	\$400.00	\$2,000.00
631.5100	Regulatory Sign (10 Square Feet or Less)	1	EA	\$210.00	\$210.00	\$250.00	\$250.00	\$200.00	\$200.00	\$400.00	\$400.00
631.7102	Warning Sign (10 Square Feet or Less) with Post	1	EA	\$550.00	\$550.00	\$600.00	\$600.00	\$600.00	\$600.00	\$400.00	\$400.00
631.7103	Warning Sign (10 Square Feet or Less)	1	EA	\$250.00	\$250.00	\$300.00	\$300.00	\$300.00	\$300.00	\$400.00	\$400.00
631.8000	Relocation of Existing Sign	1	EA	\$560.00	\$560.00	\$500.00	\$500.00	\$600.00	\$600.00	\$400.00	\$400.00
632.1000	Crash Cushion Object Marker (COM)	L.S.	L.S.	L.S.	\$350.00	L.S.	\$750.00	L.S.	\$1,400.00	L.S.	\$1,600.00
632.4000	Reflector Marker (RM-3)	L.S.	L.S.	L.S.	\$250.00	L.S.	\$3,500.00	L.S.	\$3,500.00	L.S.	\$1,610.00
632.8100	Reflector Marker (RM-4)	L.S.	L.S.	L.S.	\$480.00	L.S.	\$1,920.00	L.S.	\$1,900.00	L.S.	\$700.00
632.9100	Type II Object Marker	L.S.	L.S.	L.S.	\$50.00	L.S.	\$600.00	L.S.	\$600.00	L.S.	\$350.00

Sheet No. 6 of 8 Sheets

PROJECT: Kamehameha Highway

Replacement of South Punaluu Stream Bridge

PROJECT NO.: BR-083-1(42)

Net Length of Project: 0.26 Miles

ISLAND: Oahu

DATE ADVERTISED: Internet Posting - June 9, 2009

BIDS OPENED: June 30, 2009

COMPLETION TIME: Five Hundred (500) Working Days

HAWAIIAN DREDGING CONSTRUCTION COMPANY, INC. dck pacific construction, LLC

GOODFELLOW BROS., INC.

STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION

JOWN LETTO	COMPLETION TIME. Five nutrated (500) Working Days										
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
643.0000	Maintenance of Existing Landscape Areas	F.A	F.A	F.A	\$42,000.00	F.A	\$42,000.00	F.A	\$42,000.00	F.A.	\$42,000.00
645.1000	Traffic Control	L.S.	L.S.	L.S.	\$140,000.00	L.S.	\$300,000.00	L.S.	\$150,000.00	L.S.	\$58,600.00
645.2000	Additional Police Officers, Additional Traffic Control Devices And Advertisement	F.A	F.A	F.A	\$250,000.00	F.A	\$250,000.00	F.A	\$250,000.00	F.A.	\$250,000.00
648.0000	Field-Posted Drawings	L.S.	L.S.	L.S.	\$1,400.00	L.S.	\$3,000.00	Ĺ.S.	\$3,000.00	L.S.	\$15,000.00
651.0000	Gabions	L.S.	L.S.	L.S.	\$140,000.00	L.S.	\$95,000.00	L.S.	\$175,000.00	L.S.	\$54,800.00
665.0000	Invasive Species Management	L.S.	L.S.	L.S.	\$14,000.00	L.S.	\$5,000.00	L.S.	\$10,000.00	L.S.	\$10,000.00
691.1001	Underground Communications System	L.S.	L.S.	L.S.	\$75,000.00	L.S.	\$100,000.00	L.S.	\$74,000.00	L.S.	\$57,317.32
692.0000	Voluntary Partnering	F.A	F.A	F.A	\$6,000.00	F.A	\$6,000.00	F.A	\$6,000.00	F.A.	\$6,000.00
693.1000	Terminal Impact Attenuator	L.S.	L.S.	L.S.	\$25,290.00	L.S.	\$110,000.00	L.S.	\$101,000.00	L.S.	\$112,000.00
693.2000	Replacement Diaphragm Assembly, Fender Panel Assembly, and Cartridge Cells	L.S.	L.S.	L.S.	\$20,000.00	L.S.	\$80,000.00	L.S.	\$79,000.00	L.S.	\$60,000.00
693.3000	Replacement Nose Assembly and Cartridge Cells	L.S.	L.S.	L.S.	\$6,250.00	L.S.	\$25,000.00	L.S.	\$25,000.00	L.S.	\$10,000.00
696.0000	Maintenance of Trailers	F.A	F.A	F.A	\$50,000.00	F.A	\$50,000.00	F.A	\$50,000.00	F.A.	\$50,000.00
696.0100	Field Office Trailer (Not to Exceed \$32,000.00)	L.S.	L.S.	L.S.	\$32,000.00	L.S.	\$32,000.00	L.S.	\$32,000.00	L.S.	\$32,000.00
696.0300	Project Site Laboratory Trailer (Not to Exceed \$32,000.00)	L.S.	L.S.	L.S.	\$22,000.00	L.S.	\$22,000.00	L.S.	\$22,000.00	L.S. Sheet No. 7	\$22,000.00

Sheet No. 7 of 8 Sheets

PROJECT: Kamehameha Highway Replacement of South Punaluu Stream Bridge  PROJECT NO.: BR-083-1(42)  Net Length of Project: 0.26 Miles  ISLAND: Oahu  DATE ADVERTISED: Internet Posting - June 9, 2009  BIDS OPENED: June 30, 2009  COMPLETION TIME: Five Hundred (500) Working Days			HAWAIIAN DREDGING CONSTRUCTION COMPANY, INC.		dck pacific construction, LLC		GOODFELLOW BROS., INC.		DEPART TRANSP	OF HAWAII IMENT OF ORTATION 'S DIVISION	
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
698.1000	Training (4 Trainees)	2,400	Hour	\$0.80	\$1,920.00	\$0.80	\$1,920.00	\$0.80	\$1,920.00	\$0.80	\$1,920.00
699.1000	Mobilization (Not to exceed 10% of the sum of all items excluding the bid price of this item, field office and project site laboratories, furnishing drilled shaft drilling equipment and force account items)	L.S.	L.S.	L.S.	\$1,250,000.00	L.S.	\$800,000.00	L.S.	\$869,000.00	L.S.	\$1,275,200.00
	A. Sum of All Items				* \$14,570,009.28		\$17,158,000.00	:	\$18,769,330.00		\$18,954,285.89
	B. Either Furnish Foreign Steel Not to Exceed Minimal Amortish Foreign Steel in Excess of Minimal Amount (Fill	ount (Fill in '0') o in 25% x A)	or	<u>\$0.00</u>			\$0.00		\$0.00		\$0.00
	C. Amount for Comparison of Bids (A + B)				* \$14,570,009.28		\$17,158,000.00		\$18,769,330.00		\$18,954,285.89
	* CORRECTED FIGURE										·
	I certify that this is a true and correct tabulation of bids for the second sec	nis project.  1 0 Date	7								
										Sheet No. 8	of 8 Sheets